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ACADEMIC YEAR : 2022-23
GRADE : IX
SUBJECT : ENGLISH
ASSIGNMENT 20 -  The Beggar
Answer the following :-
Q1. Is Lushkoff a willing worker? Why, then, does he agree to chop wood for Sergei?
Q2. Sergei says, “I am happy that my words have taken effect.” Why does he say so? Is he right in saying so?
Q3. Lushkoff is earning thirty five roubles a month. How is he obliged to Sergei for this?
Q4. During their conversation Lushkoff reveals that Sergei’s cook, Olga, is responsible for the positive change in him. How has Olga saved Lushkoff?
Q5. During their conversation Lushkoff reveals that Sergei’s cook, Olga, is responsible for the positive change in him. How has Olga saved Lushkoff ?
Q6. How did Sergei come to remember that he had met the beggar before?
Q7. Why was the beggar taken aback when Sergei asked if he remembered having met him earlier?
Q8. What offer was made by Sergei to the beggar in order to discourage him from begging? Why?
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